10.
11.

12.
13.
14.
15.
16.
17.

18.
19.

Yy
T V1422 + \/1+y2 Yy

Diferencialni rovnice 1. radu

T

/:O

(+1)y =1-y;y0)=5
y(y'=1) (" -1)y =0
v + (@ —ay)y =0

zy +y=1v>Inz

xy’—y:ny*I

Y =50

y =50

y/ =2 (xinril)Q
y'=(z+y)
V= oy

! 2x _ 222
y+ 1+22 Y = 1142

v+ (y—Dtgr=0

y+i=x

Yy +y cosx = cosx

vy —Fy =5 y(l)=2
(z+ 1)y —2y=(x+1)*
2

V+1im =y

Y + 2zy = 2233



20.

21.
22.
23.
24.
25.
26.

27.
28.
29.
30.
31.
32.
33.

34.
35.
36.

37.
38.

39.
40.

y —y+y?cosx =0

2?1+ 2+ 92V + 22y =0
1 -y —2zyy =0

v —y +1=0

2>+ 1419y cosy =0

e’ +2x+1y siny =0

Qe 1)y +y? =0 y(d) =1

r—y+xy =0
v —ay+ (2 +ay)y =0
(v —ay)y + 2% +y* =0

ry+ (' —xy+a*)y =0

23y = o
(x—y)y =x+y

r . 3x—4y
Yy = do+Ty—1

(y—z—-4)y =r+y-—2

(x+y)y =4

DO
<
I
&

/

y +
Y

]
I

(4)°

(y—2x—4)y =x+2y—2

P —2xy+ 222 +32y)y =0; y(1) =1

2



41.
42.
43.
44.

45.

46.

A7.

48.
49.

’—xiﬂy:2(a:—|—1)3\/§
zy' + (2% + 1)y = 0; y(2) = —3

(z+2)y —y=ay® y(0) =3

_ xH2y+3 . .
y' = 2x+51;;+6’ y(1) =0

/ y+4 2
y =2 (m)

/_ 4x+3y+1
y = 3x+2y+1

_ a(y+x)(y+2)?
yr—y=="" 15—

(z+ 1)y =3y =(z+2)%yy; y(0)=1

y +ay = 2y’



—_

x® N>

10.
11.

12.
13.
14.
15.
16.

17.

18.

19.

Diferencialni rovnice 1. radu

Vysledky

AI+ 22+ /1+y2=¢, ceR

y—i‘t—i;x>—1,c€R
’x—_l - =c,c>0
z+11 |y2=1] —

y=ces, ceR

y=—In(ze“™) ceR, y=0
y?> =2 (Inz®+¢), ¢ >0
?—ay+yPtr—y+c=0,c<3
y—z—3=clr+y—1)3> ceR
(y+2)e2amg% =c,c€R
y=tg(x+c)—z, ceR
(r+2y+2)?=e?¥" ceR

ceR

_ _c 2 x
Y= 1+x2+§1—|—x27
y=ccosx+1, ceR

_c 1,2
y—5+§$,CER
y=ce " 11 ccR

y_Sx_—H+(x+lnx)x+l

y=(Z+r+c)(z+1)% ceR

1 _
Y= o cmara)y € 70, y=0

1

y: :i: 2 1)
\ce2® +a24-2

c>0,y=0



20.

21.
22.
23.
24.
25.
26.

27.
28.

29.

30.

31.

32.

33.

34.
35.
36.
37.
38.
39.
40.

2 c#0, y=0

y= 2ce~*4sinx+cosx’

sxV1+422 — Largsinhe + 1y\/1+y?>— Jargsinhy =¢, c€R

y==+y/1+:, ceR
y=tg(z+c), ceR
y:—arcsin(%g—l—x—l—c), ceR

y = arccos(e” + 2?4+ ¢), c € R

_ 2
Y= m@zri)t2-mo

< <
I
8
)
|
S
3
(@)
M
=
<
I
)

§ln\§+1\+%ln(g—§—g+1)—L

1

y:i\/lfw,ceﬂ%,yzo

2
§ln’%‘—iln(%—%+2>+ﬁamtg<

arctg <% (2

w

Sl

y:xln(—m>, celR
—%1n<1+‘z—z)—|—arctg%—1n\a:\:c, ceR
Ty =322 +8xy —2y+3+c=0,cER

v’ — 22 —8y+dr —2xy+14+c=0,ceR

+ _
—y+2arctg 5 +c=0, ceR
y=-5%+3(2z-1), ceR
y:—ﬁ ce Ry=0
777

777

(27

—1))+ln|x\—|—c:O, ceR

—1)>—ln|:c|+c:0, ceR
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20.

777
777
777
777
777
777
777
777
777

777



